Activity Three: The Enlightenment
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Activity Three: The Enlightenment

What are the advantages of living in a civil society? To what extent would Hobbes, Rousseau,
Locke and Montesquieu agree and disagree with your answer?

1. Response includes definition of “civil society”.

2. Response includes at least 3 advantages and at least 3 disadvantages of living in a civil society

3. Explains the extent to which Hobbes, Rousseau, and Montesquieu each would agree and disagree
with your answer

4. Response accurately reflects the individual points of view of Hobbes, Rousseau, Locke and Mon-
tesquieu
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